FIERR—YL IV T—2320 Tz AT4NIL (FEWAIT-R) EEXE

H24.11.18
FEI)—J 2mAHIEAET =23+
[A)—5]
NO F— L4 1 2 3 BEER | IBGL| Bktyb |1BRY -4 £
@ Et1l 0—3 2—1 | 1B18| 3 -2
@) Iz 8B 3—0 1—2 | 1B1BR | 1 2
® Iz B2 A 1—2 2—1 118 | 2 0
[B—]
NO F—L4% 1 2 3 BSEX | NBRL| |ktyb |1BRh —L| Fi
@ E@HH 2—1 2—1 | 208k | 1
@ FHTF=RBE 1—2 1—2 | Of2Bk | 3
® )it 1—2 2—1 1B1B | 2
[c)—%]
NO F—L% 1 2 3 BB | IEGL| Bktyl |1BLy -4 £
D| J&BEZEIZ=ZE) 1—2 2—1 | 118 | 2
@ el =il 2—1 2—1 | 308K | 1
©) HARE 1—2 1—2 O3B | 3




FIERR—YL IV T—2320 Tz AT4NIL (FEWAIT-R) EEXE

H24.11.18
R —5 & E ) EABRT= 23—k
[1421)—%)
NO F—L% 1 2 3 BB | IEGL | |BRtob |/ -4 £
Al I BB 0—3 1—2 | Ofs2BR [ 3
B1 £\t 3—0 3—0 | 2808k | 1
C1 mAETfH 2—1 0—3 1R1B | 2
[2411)—7%']
NO F—L% 1 2 3 REER | IEGL| Bty |[BRr -4 £
A2 Iz B2 A 1—2 2—1 11 | 2
B2 E)Ith 2—1 2—1 | 2808k | 1
C2| J&BEREIZ=ZE) 1—2 1—2 Of2BX | 3
[3411)—%])
NO F—LE 1 2 3 BB | NERL| Jktyb BT —L| F#
A3 =t 0—3 3—0 | 1B18& | 2
B3 FHT-AGRE 3—-0 3—0 | 208X | 1
C3 HARF 0—3 0—3 Ofs2BK | 3




F1ERAR—=YLHY)IT—3 TR TA4NIVERAT=X] HEEXES

HERR(FE) H24.11.18
E@RmIIEART=Xa—+

FE)—S
=] EX 0—3 @) I BB
flE 2 H 5|:|E|]
A B _ Eab F0ER
507% A :ﬁkzgf 5—7 O g BEf
Hil _ KE B
OB | mn Ey 06 | © BB MT
il =t @) 2—1 5z B2 A
flE 2 =L
108 Eamey | O | 779 Eﬂ;ﬁﬁ wEy
ZH BER _ I
Sl s -6 | © AT <2
S0 BRI 5 7—6 =)
” Hid iR+ 3 BEH T
]| I BB 1—2 O GA=N.N
2 5 _ =m HEX
JEED FOAR _ W BEE
KA B — =)
607% EE Y O 7—5 W HE
=] EHh O 2—1 FHHTT=AHE
=If Bhx _ i B
40%% IJ%E :Hi_—,r O 6—3 L gf
&y _ ZEH
FER & _ A
OF [ms w7 © | 61 RE V5
il SHM @) 2—1 Z)Ilth
=1if Br . By TE
S _  EE e
50 ”'}ﬁ%%ﬁ """"""""""""" - 6—3 Il
= _ ]
605% AE =T 4—6 O EE R




FE 5l FHMT-AHE 1—2 2™
*I\|EI ﬁﬁ - #&ET I:lg.,\
40 TH 3—6 EA BT
UN _ ==
603 KH DDA 4—6 E8 g%
75 ]| J & BIEEER Hh
40,—?‘; Ezg'_: ;I:IE] I\$$ ,é\I—
™ 7]”% ;ﬁ% h/ﬁ R%
505 | AR B A BE
™ TH BEE ’r’rm U\té’%
601'?_2 ”—IZF ;-f_ ......................................................................................................
» WxE FYF ﬁ*i %%
&7l J&BIEEE 2—1 HAEAF
L Eal _ 210 e
= IR AH —
SOR | mrpd 6—4 e 2
= _ % =
OB |ng £y 5—7 K3t DIT
75 A 2—1 AAE
/\ﬂ: B _ Pl RS
2 —
il T WY 62 s =
R e P& =
OB [ HE mr 6—3 At T




F1ERAR—=YLHY)IT—3 TR TA4NIVERAT=X] HEEXES

AEEER (KE) H24.11.18
LAMHIIEART=Xa—r

161)—4

i ]| I BB 0—3 O 2@\H
B GEH _ =7 Bn

EER F0ER e | A~ | HF e

50%% hEET 3—6 O np
KE B _ =

&5 Is; 2B 1—2 O mAmH
H ZH INE B8

il []B — &Eﬂ H =
507 hE BT 3—6 O 'rm& z;#aask
Ke H— _ BR B

60 BE WY 1-6 O FE BT
&5 BHH O 3—0 mAETHH
= MNE B8

408 S Fiy | © | 673 Lk A
e _ IH BE
50 g = O /=39 TR VEH
oF | my | O | 63 B

241)—5

&5 I & A 1—2 O 2t
__________________________ = Ex _ B TE

R _ I

507% z;-aut_; ¥ O 6—-2 ﬁE JIg-F
B IEE _ =L ==
51 I & A O 2—1 J & BIEZER
AiHE: S FoL =a

407% EH;E:J%E:? f O 6—4 7;@ 73 iﬁ

ae - | A . BAa A =t
i I _-n | |l W FF




FE R 2t O 2—1 J&BIEZER
W iy _ J_7I =) E]
108 iz&i’ 15? a; o 6—4 J;é_n‘%: =4
2k A — __#Ba g |
507% ﬁ—IEE I'I'E‘%i:? 4—6 O :LFEEI*%\EE%
=L == A~ | 5
6075 X8 HRF O 6—3 IS iﬁ?
3f)—45
| =11l 0—3 O FHTTAHE
fiE = _ P I_I Zw
A B _
50% BH ——F 1—-6 © f;x# e
124 —
60%% e 0—6 © KH ObH
FE 5 =t @) 3—0 HAEAF
== _ A '|ﬁ-%
7 B _ —
= T - i I
pris _ % 18
60 | ma mr | - 6—3 K3t DT
| FHFT=ABE O 3—0 HAFE
o[ Eg _ 2 mE
405% ﬁgz *;E; O 6—2 ,\Eg ’Ei%\
Z —_
9.\ _ B 15
603% EH DD O 6—3 e B






